
Approved By:               

First Angle
Projection

>4000-8000

5

>1000-3000>300-1000>100-300>30-100>10-30>0-10
0.2 0.8

Flatness

Received By:

Date:   

Linear >0-3 >3-6 >6-30 >30-120 >120-400 >400-1000 >1000-2000 >2000-4000 Angle Tolerance

0.15

0.1

0.2 0.5 0.8

0.4

1.2 2

1.2

3

1.6

4

PRO REV. DATE ALTERATION AUTH.

Date:  NOTE: All dimensions in mm (unless noted otherwise)

1

Batch: 

Quantity Batch:  

Contract Ref:                       
Client Dwg Ref:  

Dwg Description: REVISION TABLE

Product Description: Reid&Twiname Platform Ladder 2 Step Pull Out, 130Kg SWLMO:     

Client: Reid&Twiname
Contract #:  

Product Code: 001-005-0201NZ

Client Rev:  0

8-6-2023 AS PER CLIENT'S DRAWING V1902

Sheet 1 of 8

0

Client Code: TBA

W =12.18 (Kg)
Product Finish: Ladder: EZP / Step: EZP + PC: Yellow/Smooth/Gloss CA.RAL 1007

DETAIL K
SCALE 1 : 3

DETAIL U
SCALE 1 : 3

REVISIONS

PRO REV DATE ALTERATION AUTH

0 8-6-2023 AS PER CLIENT'S DRAWING V1902



Approved By:               

First Angle
Projection

>4000-8000

5

>1000-3000>300-1000>100-300>30-100>10-30>0-10
0.2 0.8

Flatness

Received By:

Date:   

Linear >0-3 >3-6 >6-30 >30-120 >120-400 >400-1000 >1000-2000 >2000-4000 Angle Tolerance

0.15

0.1

0.2 0.5 0.8

0.4

1.2 2

1.2

3

1.6

4

PRO REV. DATE ALTERATION AUTH.

Date:  NOTE: All dimensions in mm (unless noted otherwise)

1

Batch: 

Quantity Batch:  

Contract Ref:                       
Client Dwg Ref:  

Dwg Description: ASSEMBLY 1 OF 7

Product Description: Reid&Twiname Platform Ladder 2 Step Pull Out, 130Kg SWLMO:     

Client: Reid&Twiname
Contract #:  

Product Code: 001-005-0201NZ

Client Rev:  0

8-6-2023 AS PER CLIENT'S DRAWING V1902

Sheet 2 of 8

0

Client Code: TBA

W =12.18 (Kg)
Product Finish: Ladder: EZP / Step: EZP + PC: Yellow/Smooth/Gloss CA.RAL 1007

E

F

G

1.1

AC5
AC6

1.6

3.1

3.2

3.3

2.1

2.5

3.4

1.2

1.4

1.5

1.3

2.2

3.1

1.5

1.7

AC8

1.4

1.8

AC5

AC16

AC18
AC17

1.10

1.11 AC19

1.9

2.3B

2.3A

3.5

DETAIL E
SCALE 1 : 6

DETAIL F
SCALE 1 : 6

DETAIL G
SCALE 1 : 5

AC4

AC7

2.4 2.3A

List of Part

Part # Code Description Material 
Spec Size Qty. Unit Total

1.1 901-040-0040-1 2(+/-0.19)mmT x 1250 x 2500 Hot Rolled 
Steel Sheet

SPHC JIS 
G3131 660x100.4x2mm 1 Sheet 0.0212

1.2 901-040-0040-1 2(+/-0.19)mmT x 1250 x 2500 Hot Rolled 
Steel Sheet

SPHC JIS 
G3131 660x100.4x2mm 1 Sheet 0.0212

1.3 901-040-0040-1 2(+/-0.19)mmT x 1250 x 2500 Hot Rolled 
Steel Sheet

SPHC JIS 
G3131 330x68.4x2mm 1 Sheet 0.0072

1.4 901-040-0040-1 2(+/-0.19)mmT x 1250 x 2500 Hot Rolled 
Steel Sheet

SPHC JIS 
G3131 636x66.7x2mm 2 Sheet 0.0271

1.5 901-040-0040-1 2(+/-0.19)mmT x 1250 x 2500 Hot Rolled 
Steel Sheet

SPHC JIS 
G3131 305x40x2mm 3 Sheet 0.0117

1.6 901-040-0062-4 5(+/-0.25)mmT x 1500 x 3000 Hot Rolled 
Steel Sheet

SS400 JIS 
G3101 108x25x5mm 1 Sheet 0.0006

1.7 901-070-0015-2 8(+0.5/-0.2)mm dia Steel Solid Round Bar 
Cut To Length

CT 3 (250 
Mpa) 280mm 1 M 0.2800

1.8 903-090-0013-2 3mm dia Stainless Steel Solid Round Bar 
Cut To Length Grade: 304 250mm 1 M 0.2500

1.9 903-055-0010-1 1mm thk x 400 x 1600 Spring S/Steel Flat 
Sheet Grade: 301 120.81x50x1mm 1 Sheet 0.0094

1.10 901-040-0062-4 5(+/-0.25)mmT x 1500 x 3000 Hot Rolled 
Steel Sheet

SS400 JIS 
G3101 40x52.50x5mm 2 Sheet 0.0009

1.11 901-040-0050-1 3mm thk 1250x2500 Hot Rolled Steel Sheet SPHC JIS 
G3131 15x15x3mm 1 Sheet 0.0001

2.1 901-040-0062-4 5(+/-0.25)mmT x 1500 x 3000 Hot Rolled 
Steel Sheet

SS400 JIS 
G3101 649.30x40x5mm 2 Sheet 0.0115

2.2 901-070-0035-2 14(+0.5/-0.2)mm dia Steel Solid Round Bar  
Cut To Length

CT3-250 
Mpa 310mm 1 Length 0.0517

2.3A 901-040-0040-1 2(+/-0.19)mmT x 1250 x 2500 Hot Rolled 
Steel Sheet

SPHC JIS 
G3131 266x121x2mm 1 Sheet 0.0103

2.3B 901-040-0040-1 2(+/-0.19)mmT x 1250 x 2500 Hot Rolled 
Steel Sheet

SPHC JIS 
G3131 266x121x2mm 1 Sheet 0.0103

2.4 901-040-0050-1 3mm thk 1250x2500 Hot Rolled Steel Sheet SPHC JIS 
G3131 45.1x40x3mm 1 Sheet 0.0006

2.5 930-002-0030 40mm dia Plastic Solid Round Bar Cut To 
Length

UHMW PE 
(White) 16mm 2 M 0.0320

3.1 901-040-0040-1 2(+/-0.19)mmT x 1250 x 2500 Hot Rolled 
Steel Sheet

SPHC JIS 
G3131 664.4x70.4x2mm 2 Sheet 0.0299

3.2 901-040-0040-1 2(+/-0.19)mmT x 1250 x 2500 Hot Rolled 
Steel Sheet

SPHC JIS 
G3131 362x300x2mm 1 Sheet 0.0348

3.3 901-040-0050-1 3(+/-0.21)mmT x 1250 x 2500 Hot Rolled 
Steel Sheet 

SPHC JIS 
G3131 318x70.1x3mm 1 Sheet 0.0071

3.4 901-040-0050-1 3(+/-0.21)mmT x 1250 x 2500 Hot Rolled 
Steel Sheet 

SPHC JIS 
G3131 47x25x3mm 2 Sheet 0.0008

3.5 901-040-0100-1 12(+/-0.6)mmT x 1500 x 2000 Hot Rolled 
Steel Sheet

SS400 JIS 
G3101 38x12x12mm 2 Sheet 0.0003

List of Pack

AC4 914-046-0008 Nyloc Nut M8 x P1.25 Steel 8.8 - 1 Pcs 1

AC5 914-046-0005 Nyloc Nut M6 x P1 Steel 8.8 - 2 Pcs 2

AC6 914-094-0004 Steel Flat Washer M6 x 6.5mmID x 
13.1mmOD x 1.5mmT STEEL - 1 Pcs 1

AC7 914-016-0018 M8 x 16mmL x P1.25 Hex socket (allen 
Key) & Domed Head Bolt Steel 8.8 - 1 Pcs 1

AC8 915-083-0013 12mm OD x 70mmL x 1.25mm dia Steel 
Spring - Lò xo STEEL - 1 Pcs 1

AC16 914-000-0208 Hex Head Bolt M10 x 25mmL x P1.5 - DIN 
931 (Steel: 8.8) Steel: 8.8 - 6 Pcs 6

AC17 914-046-0010 Steel Nyloc Nut M10 x P1.5 Steel 8.8 - 6 Pcs 6

AC18 914-094-0051 Steel Flat Washer M10 x 10.5mmID x 
25mmOD x 2.5mmT - DIN 7349 Steel 8.8 - 12 Pcs 12

AC19 914-010-0070 Carriage Bolt M6 x 16mmL x P 1 Steel: 4.6 16mm 1 Pcs 1



Approved By:               

First Angle
Projection

>4000-8000

5

>1000-3000>300-1000>100-300>30-100>10-30>0-10
0.2 0.8

Flatness

Received By:

Date:   

Linear >0-3 >3-6 >6-30 >30-120 >120-400 >400-1000 >1000-2000 >2000-4000 Angle Tolerance

0.15

0.1

0.2 0.5 0.8

0.4

1.2 2

1.2

3

1.6

4

PRO REV. DATE ALTERATION AUTH.

Date:  NOTE: All dimensions in mm (unless noted otherwise)

1

Batch: 

Quantity Batch:  

Contract Ref:                       
Client Dwg Ref:  

Dwg Description: ASSEMBLY 2 OF 7

Product Description: Reid&Twiname Platform Ladder 2 Step Pull Out, 130Kg SWLMO:     

Client: Reid&Twiname
Contract #:  

Product Code: 001-005-0201NZ

Client Rev:  0

8-6-2023 AS PER CLIENT'S DRAWING V1902

Sheet 3 of 8

0

Client Code: TBA

W =12.18 (Kg)
Product Finish: Ladder: EZP / Step: EZP + PC: Yellow/Smooth/Gloss CA.RAL 1007

 4
23

 

 3
90

 

 3
35

 

 660 

 665.6 

 6
1.

5  1
12

.5
 



Approved By:               

First Angle
Projection

>4000-8000

5

>1000-3000>300-1000>100-300>30-100>10-30>0-10
0.2 0.8

Flatness

Received By:

Date:   

Linear >0-3 >3-6 >6-30 >30-120 >120-400 >400-1000 >1000-2000 >2000-4000 Angle Tolerance

0.15

0.1

0.2 0.5 0.8

0.4

1.2 2

1.2

3

1.6

4

PRO REV. DATE ALTERATION AUTH.

Date:  NOTE: All dimensions in mm (unless noted otherwise)

1

Batch: 

Quantity Batch:  

Contract Ref:                       
Client Dwg Ref:  

Dwg Description: ASSEMBLY 3 OF 7

Product Description: Reid&Twiname Platform Ladder 2 Step Pull Out, 130Kg SWLMO:     

Client: Reid&Twiname
Contract #:  

Product Code: 001-005-0201NZ

Client Rev:  0

8-6-2023 AS PER CLIENT'S DRAWING V1902

Sheet 4 of 8

0

Client Code: TBA

W = (Kg)
Product Finish: Ladder: EZP / Step: EZP + PC: Yellow/Smooth/Gloss CA.RAL 1007

 660 

 636  10 

 4
4 

 2
7.

5 

 3
90

 

 4
23

 

 3
35

 

 1
67

.5
 

 7.3 

 30  15.5 

 66.5 

 40 

 40 

 M
6  10 

 1
1 

 5
 

 5
2.

5 

 20  76.5  20  278 

 20 
5

TYP

3 40
TYP

3 40
TYP

3 40
TYP

3 40
TYP

5

5
TYP

5

5
TYP

 8
.5

 

 5
1 

 15 

 4
5 

 2
 

 6 

 71 

 83 

 5
.5

 

 1
2.

5 
 30  85  30  200  30  240 

5
TYP

 4
4 

 26 

 70 

 1
2.

5 

 2
7.

5 

 25 

 
8 

 35 

 35 

5
TYP

5
TYP



Approved By:               

First Angle
Projection

>4000-8000

5

>1000-3000>300-1000>100-300>30-100>10-30>0-10
0.2 0.8

Flatness

Received By:

Date:   

Linear >0-3 >3-6 >6-30 >30-120 >120-400 >400-1000 >1000-2000 >2000-4000 Angle Tolerance

0.15

0.1

0.2 0.5 0.8

0.4

1.2 2

1.2

3

1.6

4

PRO REV. DATE ALTERATION AUTH.

Date:  NOTE: All dimensions in mm (unless noted otherwise)

1

Batch: 

Quantity Batch:  

Contract Ref:                       
Client Dwg Ref:  

Dwg Description: ASSEMBLY 4 OF 7

Product Description: Reid&Twiname Platform Ladder 2 Step Pull Out, 130Kg SWLMO:     

Client: Reid&Twiname
Contract #:  

Product Code: 001-005-0201NZ

Client Rev:  0

8-6-2023 AS PER CLIENT'S DRAWING V1902

Sheet 5 of 8

0

Client Code: TBA

W = (Kg)
Product Finish: Ladder: EZP / Step: EZP + PC: Yellow/Smooth/Gloss CA.RAL 1007

 2
82

 

 14 

 649.3 

 5
 

 5
 

 5
1 

 3
10

 

 15 

 27 

 0
 

 1
6 

 3
14

 

5
weld 1/2 center,
behind

5
weld 1/2 center,
behind

 49  285 

 6
5°

 

 4
0 

 39.3 

 2
7.

4 

 10 

 7
0°

 

 10 

 3 

 17.5 

 
6.5 

 37.5 I

5

5

 36.1 

 13.5 

 26.5 

 6.5 

 26.5 

 40 

 15 

 13.3 

VIEW I
SCALE 1 : 5



Approved By:               

First Angle
Projection

>4000-8000

5

>1000-3000>300-1000>100-300>30-100>10-30>0-10
0.2 0.8

Flatness

Received By:

Date:   

Linear >0-3 >3-6 >6-30 >30-120 >120-400 >400-1000 >1000-2000 >2000-4000 Angle Tolerance

0.15

0.1

0.2 0.5 0.8

0.4

1.2 2

1.2

3

1.6

4

PRO REV. DATE ALTERATION AUTH.

Date:  NOTE: All dimensions in mm (unless noted otherwise)

1

Batch: 

Quantity Batch:  

Contract Ref:                       
Client Dwg Ref:  

Dwg Description: ASSEMBLY 5 OF 7

Product Description: Reid&Twiname Platform Ladder 2 Step Pull Out, 130Kg SWLMO:     

Client: Reid&Twiname
Contract #:  

Product Code: 001-005-0201NZ

Client Rev:  0

8-6-2023 AS PER CLIENT'S DRAWING V1902

Sheet 6 of 8

0

Client Code: TBA

W = (Kg)
Product Finish: Ladder: EZP / Step: EZP + PC: Yellow/Smooth/Gloss CA.RAL 1007

Q

R

 2
82

 

 2
06

.3
 

 3
7.

9 

 15 

 13 

DETAIL Q
SCALE 1 : 2.5

DETAIL R
SCALE 1 : 2.5



Approved By:               

First Angle
Projection

>4000-8000

5

>1000-3000>300-1000>100-300>30-100>10-30>0-10
0.2 0.8

Flatness

Received By:

Date:   

Linear >0-3 >3-6 >6-30 >30-120 >120-400 >400-1000 >1000-2000 >2000-4000 Angle Tolerance

0.15

0.1

0.2 0.5 0.8

0.4

1.2 2

1.2

3

1.6

4

PRO REV. DATE ALTERATION AUTH.

Date:  NOTE: All dimensions in mm (unless noted otherwise)

1

Batch: 

Quantity Batch:  

Contract Ref:                       
Client Dwg Ref:  

Dwg Description: ASSEMBLY 6 OF 7

Product Description: Reid&Twiname Platform Ladder 2 Step Pull Out, 130Kg SWLMO:     

Client: Reid&Twiname
Contract #:  

Product Code: 001-005-0201NZ

Client Rev:  0

8-6-2023 AS PER CLIENT'S DRAWING V1902

Sheet 7 of 8

0

Client Code: TBA

W = (Kg)
Product Finish: Ladder: EZP / Step: EZP + PC: Yellow/Smooth/Gloss CA.RAL 1007

 644 

 1
7 

 3
20

 

 44.5  40 

 3
05

 
 7

.5
 

 3
25

 

 6
2.

3 

 22 

 2
6.

5 

 30 

 1
3.

25
 

 10 

 1
7 

 25 

 31  20 

 5
8.

5 

 300 

 22  4 

 3
16

 
J

5

5

 38  58 

 47 

 1
5.

4 

 1
7 

 4
3 

 2
 

 6.5 

 16 
 48 

 1
3.

3  2
2 

 3
.4

 

 20 
 10 

 20 

 10 

 20  110 

S

5

5

 43 

 1
7 

 3
18

 

 1
8.

8 
 1

8.
8 

 2
5 

 2
5 

 17  22 

DETAIL J
SCALE 1 : 1

5

5

 1
9 

 R19 

 12 

 3
8 

DETAIL S
SCALE 1 : 1



Approved By:               

First Angle
Projection

>4000-8000

5

>1000-3000>300-1000>100-300>30-100>10-30>0-10
0.2 0.8

Flatness

Received By:

Date:   

Linear >0-3 >3-6 >6-30 >30-120 >120-400 >400-1000 >1000-2000 >2000-4000 Angle Tolerance

0.15

0.1

0.2 0.5 0.8

0.4

1.2 2

1.2

3

1.6

4

PRO REV. DATE ALTERATION AUTH.

Date:  NOTE: All dimensions in mm (unless noted otherwise)

1

Batch: 

Quantity Batch:  

Contract Ref:                       
Client Dwg Ref:  

Dwg Description: ASSEMBLY 7 OF 7

Product Description: Reid&Twiname Platform Ladder 2 Step Pull Out, 130Kg SWLMO:     

Client: Reid&Twiname
Contract #:  

Product Code: 001-005-0201NZ

Client Rev:  0

8-6-2023 AS PER CLIENT'S DRAWING V1902

Sheet 8 of 8

0

Client Code: TBA

W =12.18 (Kg)
Product Finish: Ladder: EZP / Step: EZP + PC: Yellow/Smooth/Gloss CA.RAL 1007

 134 

 259 

 33 

powder coated Safety Yellow 

powder coated Safety Yellow 


	REVISION TABLE
	Drawing View1
	Drawing View23
	Detail View K (1 : 3)
	Detail View U (1 : 3)

	ASSEMBLY 1 OF 7
	Drawing View2
	Detail View E (1 : 6)
	Detail View F (1 : 6)
	Detail View G (1 : 5)

	ASSEMBLY 2 OF 7
	Drawing View6
	Drawing View7
	Drawing View8

	ASSEMBLY 3 OF 7
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12

	ASSEMBLY 4 OF 7
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17

	ASSEMBLY 5 OF 7
	Drawing View26
	Drawing View30
	Detail View Q (1 : 2.5)
	Detail View R (1 : 2.5)

	ASSEMBLY 6 OF 7
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21
	Detail View J (1 : 1)
	Detail View S (1 : 1)

	ASSEMBLY 7 OF 7
	Drawing View38


